ANNEX IV

Resultats de |’ analisi quantitativa



variable A.Res
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Group

CELL LOADING
Cell file: wariable A.Cel
22/4/0012:47
Token file: wvariable A
Conditions: wvariable A.Cnd
Humber of cells:
Application value(s):
of factors:

no.

Apps
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BBE
97

=,
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Total M
E
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97
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a7
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97

24
1
g
Total %
519 6B
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916
762 83
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916
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S87 64
916
711 T8
205 22
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variable A.Res

R SR e e e e B BN BS BS SR e s e e e o e m m EEE R

TOTAL M
% 97

- [:Hc}ss TABUT-ATIGH - 2254103113:54 BEE R R R R FEEEEEE R R R R R R EE

« Cell file:
« 227470012 :47
« Token file:

variable A.Cel

variable A

« Conditions: variable a.Cnd

Group #1 -- horizontally.
Group #2 -- wvertically.

a % b % Y %
e T R T T T
ml: 535 99: 214 96| 749 498
-3 3 1: 10 41 13 2
¥: 538 224 | 762
+ = om o= - g - - = m o= = - -
g 1: 32 91: 44 77| 76 83
- 3 9 13 23| 16 17
¥: 35 57 I g2
fF = - = m g = = = = = wm = o=
j 1: 46 100: 15 5941 &1 948
- o 0 1 6| 1 2
¥ a4 16 | G2
e - ——— - ————— s — ==
X 1: 613 9%: 273 82| 886 97
- 5 1; 24 8] 30 3
¥: 619 247 I 916
CROSS TABULATION « 22/4/00+13:54
Cell file: wvariable A,.Cel

22/4/0012:47

LI N ]

Conditions:

Token file: variable A
variable A.Cnd

Group #1 -- horizontally.
Group #3 -- vertically.

a % b % r %
e e i e Rt
¥y 1: 217 100: 112 1001 329 100
=3 0 0O 0 0l o o
=i 217 112 | 329
L R R N
x 1: 396 9%9: 161 87] 557 95
- 6 1: 24 131 30 5
Z: 402 : 185 I 587
e e - ——— o ——————
X 1: 613 99: 273 92| 886 97
-3 E 1 24 81 30 3
¥: 619 297 | 916

+ CROSE TABULATION =

LR R N E L]

EE;":IE’G"‘13=55 R EEEFFREERE R R R R R e SR EE

24/11/0-17:24
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variable A.Res

« Cell file: wariable A.Cel
v 22/4/500.12:47

» Token file: wvariable A

+« Conditcions: wvariable A.Cnd

Group #1 -- horizontally.
Group #4 -- wvertically.

a % B % I %

$ = = = = 4 = o m owm = 4 = om = o=

s 1: 455 9%9: 233 921 688 97

- 4q 1:; 19 a1 23 3
2: 459 : 252 1 711
d = = =m W f = w w w f w = W w
p l: 158 99: 40 89] 1%8 137
-z 2 1: 5 11} 7 3
¥: 160 : 45 | 205
o - e ———— e —————
¥ 1: 6£13 99: 273 92| BA&E 97
=3 B 1: 24 B o 3
¥: gl9 : 297 | 916

» CROSS TABULATION = 22/4/00513:55 ssssssnnsasssssssnansssnnnnnannsas
Cell file: wariable A.Cel

2274001247

Token file: wvariable A

Conditions: wvariable A.Cnd

Group #2 -- horizontally.
Group #3 -- wvertcically.
m & g % i % Z &
+ = - = = 4 = m = o= omomo= = e = = =
¥y 1: 269 100: 34 100: 26 1001 329 100
-3 0 0: 0 0: 0 al 0 0
Y: 26% : 34 : 26 | 329
+ = = = = § = m m m 4 momo=m o= 4 om o om o= =
® 1l: 480 97: 42 T2 35 971 557 85
- 13 3: 18 28: 1 3| 30 5
¥ 453 : 58 : 36 | 5&7
. P et L Sl T e T Al o e
X 1: 749 498 76 83 6l 98| 884 97
=3 13 At le 17: 1 2| 30 3
¥. 7862 : 92 : B2 | 916

« CROSS TABULATION = 22/4700+13:55 ssssssssssassanssssnsasssassnsrsnss
« Cell file: wariable A.Cel

« 2254700-12:47

« Token file: wvariable A

« Conditicns: variable A.Cnd

Group #2 -- horizontally.
Group ¥4 -- wvertically.

m % g % i 8 I

24/11/0+17:24 3



variable A.Res

A LI Sl o
a8 1 596 99: 49 78 43 98| &A8 97
- a8 1: 14 22: 1 2 23 3
T: 604 : 53 . 44 | 711
m o= = - m m m om g Em = = - 5 ERSEmpmmccEm
ol 153 §7: 27 93 18 1001 198 97
- 5 3 2 7 0 0l 7 3
Y: 158 : 29 . 18 | 205
= ———m= = R AR 4 mmmm - - -—— pmma e -

* CROSS TABULATION » 227470813155 o0 e 06 00 e s 0o b s s s s b bbb bbb oanssssssss
+« (Cell file: wariable A.Ceal

s 22545001247

= Token file; wvariable A

« Conditions: wvariable A.Cnd

Group #3 -- horizontally,
Group #4 -- vertically.
Yy % S I
+ = = m m oG - - = = = wm = o=
s 1: 260 100: 428 95| 688 497
- 0 0: 23 51 23 3
Z: 260 : 451 | 711
L R B i T
p 1: 69 100: 129 95| 198 97
= ] 0 7 gl T 3
b3 69 : 136 | 205
o ——— - s aEmasa— fmmrmmmmw-

Y 1: 329 100: 557 95| 886 97
_p 0 o: i0 s| 30 3
¥: 329 : 587 | 918

24/11/0«17:24 4



variable A.Res (prob).§

L3 'L__:E]:.r_.. EREA,TI{JH - 22;1;00!13:1'? LR N R RN EREE X E RN NI O B B ]
Wame of token file: wariable A

Name of condition file: wariable A.Cnd

(

(1)
(2}
(3)
}
Humber of cells: 4
Application value(s): 1
Tocal no. of factors: 4
Mon-
Group Apps apps Total %
1 {2)
a M 613 B 619 &8
% 949 1
b M 273 24 297 32
% g2 8
Total N BBE 30 9le
% 97 3
2 (3)
u ] 810 14 824 90
% 98 2
n M 76 16 %2 10
¥ 83 17
Total N 586 30 2lé
i 87 3
TOTAL N BB 30 916
57 3

Name of new cell file: wvariable A.Cel

CROSE TABRULATION » 2Z2274/0=213:19 ssssass s snsrss s aa s bsasssssisssddsd
Cell file: wariable A.Cel (copia)

22/4/0+13:17

Token file: variable A (copia)

Conditions: variable A.Cnd (copia)

£ & & - -

Group #1 -- horizontally.
Group #2 -- vertically.

a % b 1 r %

u l: 5SB1 99: 229 85| 810 98
- 3 1: 11 51 14 2

24/11/0+17:20 1



variable A.Res (prob).§

b

584 : 240 | B24

+ - - = - -+ = = - - + _— — — —

nl 32 91 44 77 Te 83
- 3 9: 13 231 1l 17
z 35 : 57 | 892
e - e $-————————=
¥ 1: £13 9%: 273 92| B8Bs 97
- B 1: 24 gl a0 3
¥: &l9 : 297 | 91&
¢ CELL LOADIMG » zz;dfﬂ;ls;la B OE R R B R R R R R R R R R R R R R R EEEE RS R R R EEE R
« rell file: variable A.Cel (probl
v 22/470013:17
+» Token file: variable A
» Conditiosng: variable A.Cnd
Mumber of cells: 4
Application value(s): 1
Total no. of factors: 4
MNon-
Group Apps apps Total %
1 (2)
a M 613 & 619 &8
% 99 1
b N 273 24 297 32
% 52 8
Total N 886 30 al6
& 97 3
2 (3
1 N B10 14 g824 90
% 98 2
n M Th 14 a2 10
% B3 17
Total N BEG 30 415
% 97 3
TOTAL N 886 30 916
% Q7 3
« CELL LOADIMG = 515;[}[}.12:.}_[‘] B R R E B R BB R R EEEE R R R R R R R EEEE RS
« Cell file: variable A.Cel (prob)
« 2274/0013:17
« Token file: wvariable A
+ Conditions: variable A.Cnd

NMumber of cells: 4
Application value(s): 1
Total no. of factors: 4

24/11/0+17:20 2



variable A.Res (prob).§

Non-
Group Apps apps  Tocal %
1 (2]
a M el3 & 6l &8
% 4949 1
b M 273 24 297 32
% 92 8
Total N 888 ag al6
% 97 3
2 (3}
u M Bl10 14 a24 40
% gE 2
n N Th 16 92 10
% B3 17
Tetal M BBR 30 G916
% 97 3
TOTAL N 836 30 916
% 97 3

« BINOMIAL VARBRUL., 1 step = E/R /012l ssssssssnsssssnassssnsnssnn
Mame of cell file: wvariable A.Cel {prob)

using fast, less accurate method.
averaging by weighting factors.
One-level binomial analysis..

Run # 1, 4 cells:
Icerations: 1 2 3 4 5 6
Convergence at Iteration 6
Inputc 0.%85

Group Factor Weight App/Total Input&Weight

1: a 0.641 0.99 0.99
b 0.230 0.92 0.95
2 11 0.551 0.98 0.99
n 0.137 0.83 0.91
Cell Total App'ns Expectad Error
bu 240 229 230.149 0.140
bn 57 dd 42,844 0.12&
au 584 581 579,847 0.322
an 35 12 33.185 0.781
Total Chi-scquare = 1.3681
Chi-square/cell = 0.3420

Log likelihood = ~-104.941
Maximum possible likelihood = -104.303

24/11/0+17:20 <



variable A.Res (prob).§

Fit: X-sgquare(2) = 1.275, accepted, p = 0.5329

Execution time: 0 min, 5.0 sec

¥ EIH‘:'HIAL VAHBHUL - EIEIDD*j.EIdE LA RN R NN R R EREE R RN NI I I G
Name of cell f£ile: wvariable A.Cel (prob)

Using fast, less accurate method.
Averaging by weighting factors.
Threshold., step-up/down: 0.050001

Stepping Up..

Fun # 1, 1 cells:
Iterations: 1 2
Convergence at Iteration 2
Input 0.9&87

Log likelihood = -132.049

Fun & 2, 2 cells:

Iterations: 1 2 3 4 5§

Convergence at Iteration 5

Inputc 0.980

Group # 1 -- a: 0.671, b: 0.185

Log likelihood = -117.169 Significance = 0.000

Fun # 3, 2 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.978

Group # 2 -- u: 0.562, n: 0.0986

Log likelihood = -113.426 Significance = 0.000

Add Group # 2 with factoarg un
mmmememece—— Lovel # 2 ----c----—-

Run # 4, 4 cells:

Iterations: 1 2 3 45 6

Convergence at Iteration &

Input 0.985

Group # 1 -- a:; 0.641, b: 0.230

Group F 2 -- ur 0.551, n: 0.137

Log likeliheod = -104.941 sSignificance = 0.000
Maximum possible likelihood = -104.303

Fit: X-square(2) = 1.275, accepted, p = 0.5329

2dd Group # 1 with Factors ab
Best stepping up run: #4

e et W W N N B SR SR S S o e o e e e e e e e R EN W R M N AR S e S

24/11/017:20 4



variable A.Res (prob).§

Stepping Dowr,

Fun # 5, 4 cells:

Iterationg: 1 2 3 456

Convergence at Itceration &

Input 0.985

Group # 1 -- a: 0.641, b: 0.230

Group # 2 -- u: 0.551, n: 0.137

Log likelihood = =-104.941

Maximum possible likelihood = =-104.303

Fit: X-square(2) = 1.275, accepted, p = 0.5329

Run # 6, 2 cells:

Iterations: 1 2 3 4 5
Convergence at Iteration S
Input 0.978

Group # 2 -- uw: 0.562, n: 0.0956

Log likelihood = -113.426 Significance = 0.000
Fun # 7, 2 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration S

Input 0.980

Group # 1 -- a: 0.671, b: 0.185

Log likelihood = -117.169 Significance = 0.000

All remaining groups significant

Groups eliminated while stepping down: None
Best stepping up run: &4

Best stepping dowr run: #5

Execubtion time: 0 min, 12.6 sec

24/11/0+17:20



Scattergram

4
" “pariable A.Cel (prob)”
+ 22/4/00+13:17

« Token £ile: wvariable A
« Conditions: wariable A.Cnd

BT T PO M

0 Applications/Total 1

24/11/0+18:03



variable A.Res (centering)

« CELL CREATION » E/4/0e12:316 ssssassrscnsssssnsssessnsnssrsnnnrnnis
Name of token file: wvariable A (prob)
Name of condition file: wvariable A.Cnd (centering)
(
(1)
(2)
{3)
)
Mumber of cells: 4
hpplication value(s): 1
Total no. of factors: 4

Hon-
Group Apps apps Total %
1 (2)
a N 613 B 619 68
% 949 1
b M 273 24 297 32
% 92 8
Tocal W BEB& 30 916
® 57 3
2 (1)
11 H E10 14 gz2d4d 90
i 98 2
3 M 76 18 g2 10
¥ a3 17
Tocal N :1:13 30 916
& 37 3
TOTAL N 886 30 916
% 97 3

Mame of new cell file: wariable A.Cel (centering)

« BINOMIAL VARBRUL, 1 step + 25/4/00+12:37 scscscssssssssannissssanas
Mame of cell file: wariable A.Cel (centering)

Using fast, less accurate method.
Averaging by centering factors.
One-level binomial analysis..

Run # 1, 4 cells:
Tcerations: 1 2 3 4 5
Convergence at Iteration 5
Input 0.954

Group Factor Weight App/Total Input&Weight

24/11/0-18:21 1



variable A.Res (centering)

1: a 0.710 0.99 0.98
b 0.290 0.92 0.89
2 u 0.735 0.98 Q.98
n 0.265 .83 0.88
Cell Total App'ns Expected Error
bu 240 229 230.131 0.135
bn 57 44 42.850 0.124
au 584 581 579.847 0.322
an 35 iz 33.172 0.793
Total Chi-square = 1.3743
Chi-square/cell = 0.3438

Log likelihood = =104.946
Maximum possible likelihood = -104.303
Fit: X-square(2) = 1.285, accepted, p = 0.5300

Execution time: 0 min, 4.6 sec

+ BINOMIAL VARBRUL + Z25/74/00812:47 s sas e s s oo mssassssosasssasssdsssns
Name of cell file: wvariable A.Cel (centering)

Using fast, less accurate method.
Averaging by centering factors.
Threshold, step-up/down: 0.050001

Stepping Up..

Run # 1, 1 cells:
Iterations: 1 2
Convergence at Iteration 2
Input 0.967

Log likelihood = -132.049

Fun ® 2, 2 cells:

Iterations: 12 3 4 5

Convergence at Iteration 5

Input §.971

Group # 1 -- a: 0.750, b: 0.250

Log likelihood = -117.159% sSignificance = 0.000

Fun # 3, 2 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0,943

Group # 2 -- u: 0.777, n: 0.223

Log likelihood = -113.439 Significance = 0.000

Add Group # 2 with factors un

24/11/0-18:21 2



variable A.Res (centering)

Run # 4, 4 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.954

Group # 1 -- a: 0.710, b: 0.250

Group # 2 -- 11: 0.735, n: 0.265

Log likelihood = -104.946 Significance = 0.000
Maximum possible likelihood = -104.303

Fit: X-sguare(2) = 1.285, accepted, p = 0.5300

Add Group & 1 with factors ab
Best stepping up run: #4

B N CENC NN NN N R N TEN NN NN NN CENHE CEECESENCENCEN RN RN N MR M mE e e e e e e e e e

Stepping Dowr..
ammee--eo- Level # 2 --------- -

Fun # 5, 4 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.954

Group # 1 -- a: 0.710, b: 0.290

Group # 2 -- u: 0.735, n: 0.265

Log likelihood = -104.946

Maximum pogssible likelihood = -104.303

Fit: X-square(2) = 1.285, accepted, p = 0.5300

Run # &6, 2 cells:

Iterations: 1 2 3 4 5
Convergence at Iteration 5
Input 0.943

Group § 2 -- wu: 0.777, n: 0.223

Log likelihood = -113.439 Significance = 0.000
Fun # 7, 2 cells:

Iteracions: 1 2 3 4 5

Convergence at Iceration 5

Input 0.971

Group # 1 -- a: 0.750, b: 0.250

Log likelihood = =-117.159 Significance = 0.000

All remaining groups significant

Groups eliminated while stepping down: Hone
Best stepping wp run: #4

BEsSt stepping down run: &S

Execution time: 0 min., 11.9 sec

24/11/0-18:21



Scattergram

M2 wpariable A.Cel (centering)”
» 25/4/0+12:386
+ Token file: wariable A (prob)
e Conditions: wvariable A.Cnd (centeriry
1
F
o
b
a
b
1
1
1
C
¥
0 Applications/Total 1

24/11/0-18:22



variable B.Res

3 45 5
b M 157 lé 173 40
% 51 g
Total H 404 28 432
% G4 &
TOTAL M 404 28 432
% G4 &

Mame of new cell file: wariable B.Cel

24/11/0.17:25



variable B.Res(gi)

« CELL CRBATION + 16/5/00=14:00 ssssssssnsssvascsvsssssnssnssnnnnnnns
Mame of token file: wvariable B (gi)
Name of conditicn file: wvariable B.Cnd{gi)

{
{1}
(2}
{(3)
{4)
{5)
}
Number of cells: 17
application valueis): 1
Total no. of factors: 9

Hon-
Group ApPpS apns Total %
1 {2)
(o M 3118 25 143 79
% a3 7
D 4] 84 2 ge 20
% a8 2
8 M 2 1 3 1
% &7 33
Total N 404 28 432
% G4 [
2 (3)
1 N Jaz 15 377 &7
% 98 4
n N 42 13 55 13
£ T6 24
Total W 404 28 4312
% a4 &
3 (4}
g M 162 20 182 42
% B 11
¥ H 242 8 250 5B
% ) 3
Total H 404 28 432
% 94 B
4 (5)
a M 247 12 259 &0
% 95 5
b M 157 la 173 40

24/11/0+17:36 1



variable B.Res(gi)

3 91 9

Total W 404 28 432
% 94 &

TOTAL N 404 28 432
k. 94 b

Name of new cell file: wvariable B.Cel{gi)

« BINOMIAL VARBRUL, 1 step +» l6/5/00+14:0L esecsnvscsacrcsssncsncncss
Name of cell file: wariable B.Cel(gi)

Using fast, less accurate method.
Averaging by weighting factors.
One-level binomial analysis.

Run £ 1, 17 cells:
Iterations: 1 2 3 4 5 & 7
Convergence at Iteration 7
Input 0,987

Group Factor Weight App/Total Inpuct&Weight

1 C 0.432 0.93 0.96

P 0.766 0.938 0.99

B 0.078 0.67 0.71

2 u 0.564 0.96 0.97

i 0.147 0.76 0.83

3z ® 0.273 0.89 0.92

¥ 0.671 0.97 0.92

d: a 0.602 0.95 0.98

] 0.349 0.91 0.94
Cell Total App'ns Expected Error
tuyb 3] 65 65.882 0.379
tuya 104 101 102.827 2.880
tuxb 32 27 AT .244 0.015
cuxa 95 93 89.460 2.402
cnyb 10 9 8.052 0.573
cnya 14 14 12.893 1.202
cnxb 8 4 3.457 ¢.150
Enxa 12 5 8.184 3.897
suyhb 1 0 g.777 3.484
Suya 1 1 0.208 0. 102
snvb 1 1 0.316 2.161
puyhb 27 27 26.800 0.202
puya 16 16 15.958 Q.042
puxb 16 15 15.376 0,236
puxa 17 17 16.759 0.245%
poyb 8 &8 7.574 0.450
pnxb 2 1 1.532 0.790

24/11/0+17:36 2



variable B.Res(gi)

Tocal Chi-square = 19.2081
chi-square/cell = 1.1299

Log likelihood = =81.735

Maximum possible likelihood = =71.331

Fit: X-square(l2) = 20.407, accepted, p = 0.4822

Execution time: O min, 9.3 sec

e BINOMIAL VARBRUL * 16/5/00e14:01 ssescescsaccsssssssscasnsvsssances
Name of cell file: wariable B.Cel(gi)

Using fast, less accurate method.
averaging by weighting factors.
Threshold, step-up/down: 0.050001

Stepping Up..

Fun # 1, 1 cells:
Icerations: 1 2
convergence at Iteration 2
Input 0.935

Log likelihcod = -103.684

—————————— Level £ 1 -———————==

Fun # 2, 3 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.941

Group # 1 -- t: 0.444, p: 0.723, s: 0.112

Log likelihood = -100.9%38 Significance = 0.068

Run & 3, 2 cells:

Iterations: 1 2 3 4 2
Convergence at Iteration 5
Input 0.94%

Group % 2 -- u: 0.564, n: 0.148

Log likelihood = -93.13% Significance = 0.000
Run # 4, 2 cells:

Tcterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.945

Group # 3 -- x: 0.318, y: 0.835

Log likelihood = -98.433 Significance = 0.002

Run & 5, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.939

Group # 4 -- a: 0.573, b: 0.391

Log likelihood = -101.907 significance = 0.063

24/11/0+17:36 3



variable B.Res(gi)

Add Group # 2 with factors un

Run # &6, & cells:

Tterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.954

Group # 1 -- t: 0.443, p: 0.728, s: 0.142
Group # 2 =-- u: 0.563, n: 0.149

Lo likelihood = -90.742 Significance = 0.093
Maximum possible likelihood = -B9.218
Fit: X-sguare(3) = 3.048, accepted, p = 0.3930

Fun & 7, 4 cells:

Iterations: 1 2 3 4 5 6

Convergence at Iteration 6

Input 0.959

Group # 2 -- u: 0.568, n: 0.133

Group # 3 -- x: 0.299, v: 0.650

Log likelihood = -87.104 Significance = 0.001
Maximum possible likelihood = -82.326

Fit: X-square(2) = 9.557, rejected, p = 0.00%3
Run # 8, 4 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.951

Group # 2 -- u: 0.561, n: 0.155

Group # 4 -- a: 0.557, b: 0.415

Log likelihood = -92.153 Significance = 0.16%
Maximum possible likelihood = -90.400

Fit: X-sguare(2) = 3.507, accepted, p = 0.1753

Add Group # 3 with factors xXy
—————————— Level # 3 ====--—-—--<

Run # 9, 10 cells:

Iterations: 1 2 34567

Convergence at Iteration 7

Input 0.963

Group # 1 -- t: 0,450, p: 0.709, s: 0.066

Group # 2 -- u: 0.567, n: 0,138

Group # 3 -- x: 0.290, y: 0.658

Log likelihood = -84.484 Significance = 0.077
Maximum possible likelihood = -78.293

Fit: X-sguare{6) = 12.382, accepted, p = 0.0554

Run # 10, 8 cells:

Iterations: 1 2 3 45 6
Convergence at Iteration &
Input 0.962

Group # 2 -- u: 0.565, n: 0.141
Group # 3 -=- x: 0.283, y: 0.663

24/11/017:36



variable B.Res(gi)

Group # 4 -- a: 0.582, b: 0.378

Log likelihood = -85.208 Significance = 0.052
Maximum possible likelihood = =77.79%

Fit: X-square(5) = 14.818, rejected, p = 0.011%

No remaining groups significant

Groups selected while stepping up: 2 3
Best stepping up run: #7

e R ER ES SE S R ER R am e=  am em m

Run # 11, 17 cells:
Iterations: 1 2 3 4 5 6 7
Convergence at Iteration 7
Input 0.967

Group # 1 -- ©t: 0.432, p: 0.766, s: 0.078
Group # 2 -- u: 0.564, n: 0.147
Group # 3 -- x: 0.273, y: 0.671
Group # 4 -- a: 0.602, b: 0.349

Log likelihood = -81.735
Maximum possible likelihood = -71.531
Fit: X-square(l2) = 20.407, accepted, p = 0.4822

Fun # 12, 8 cells:

Icerations: 1 2 3 4 5 &

Convergence at Iteration 6

Input 0.962

Group # 2 -- u: 0.565, n: 0.141

Group # 3 =-=- x: 0.283, y: 0.663

Group # 4 -- a: 0.582, b: 0.378

Log likelihood = -B5.208 ESignificance = 0.034
Maximum possible likelihood = -77.799

Fit: X-square(5) = 14.818, rejected, p = 0.0116

Fun # 13, 10 cells:

Iterations: 1 2 3 4 5§ 6 7

Convergence at Itceration 7

Input 0,958

Group # 1 -- t: 0.430, p: 0.772, s: 0.060
Group # 3 == x: 0.2B0, v: 0.865

Group & 4 -- a: 0.614, b: 0.334

Log likelihood = -91.219 Significance = 0.000
Maximum possible likelihood = -89,.638
Fit: X-square(6) = 3.162, accepted, p = 0.7879

Run # 14, 10 cells:
Iterations: 1 2 3 45 6
Convergence at Iteration 6
Input 0.957

24/11/0-17:36



variable B.Res(gi)

Group # 1 -- £: 0.427, p: 0.773, s: 0.167
Group # 2 -- u: 0.561;, n: 0.155

Group # 4 -- a: 0.579, b: 0.383

Log likelihood = =-88.952 Significance = 0.000
Maximum possible likelihood = -85.013

Fit: X-sguare(b) = 7.878, accepted, p = 0.2512

Run # 15, 10 cells:

Iterations: 1 2 3 456 7

Convergence at Iteration 7

Input 0.963

Group # 1 -- £: 0.450, p: 0.70%, =5: 0.0b6

Group # 2 -- u: 0.567, n: 0.138

Group # 3 -- x: 0.290, v: 0.658

Log likelihood = -84.484 Significance = 0.019
Maximum possible likelihood = -78.293

Fit: X-sguare(6) = 12.382, accepted, p = 0.0554

All remaining groups significant

Groups eliminated while stepping down: None
Best stepping up run: #7
Best stepping down run: #11

Execution cime: 0 min, 43.0 sec

« CROSS TABULATION » 16/5/00s14:03 ssssssssssssssssssnasssssnnssssnns
Cell file: wvariable BE.Cel {gi)

2T/78/5614:00

Token file: variable B (gi)

Conditions: variable B.Cnd(gi)

Group #1 -- horizontally.
Group #2 == wvertically.
E % p % 5 % - PR
+ = = =m m 4 m om om o= o om o= = o= 4 o= = o= o=
ul 286 96: 79 99: 1 501 382 96
-3 13 d: 1 1: 1 501 15 4
z: 299 ; 76 : 2 | 377
e S b R L S SR L R R
nil 32 73: 9 90: 1 1001 42 76
-2 12 27: 1 10: 1] 1] 13 24
i 44 i 10 : 1 I 55
e e e e i e
¥ 1: 318 93: 84 98&: 2 671 404 94
-3 25 T: 2 21 1 331 28 &
2: 343 : 86 : 3 I 432

CROSE TABULATION - lﬁfﬁfﬂﬂild:ﬂj R R R R R R R R R R R ERE R R R R RS
Cell file: wariable B.Cel(gi)

27T/8/56+14:00

Token file: variable B (gi)

Conditions: wvariable B.Cnd(gi)

- - L . L

24/11/0+17:36 5]



variable B.Res(gi)

Group #1 =-- horizontally,
Group #3 -- vertically.

£ % p % 5 % T 0%
+F T m o= = s m m o om o E o= = = fowm o om o om om
® 1: 129 g8 33 94d: 0 ==] 182 &9
-: 18 12: 2 6: 0 --] 20 11
3: 147 . 35 0 | 182
+ = = = = § = = = m 4 m = = = f = = = =
v 1: 18% 96: 51 100: 2 67| 242 97
- 7 4 0 0 1 33 8 3
¥: 195 : 51 : 3 | 250
e e e
¥ 1: 318 93: 84 098: 2 671 404 94
- & 25 7. 2 2: 1 33| 28 6
Z: 343 - 86 : 3 | 432

* CROSS TABULATION « l6/5/00#14:03 sectscssncssssssssscnnsnssstsnsses
« Cell file: wvariable B.Cel({gi)

» 27/B/56+14:00

« Token file: variable B (gi)

« Conditions: variable B.Cnd{gi)

Group #l -- horizontally.
Group #4 -- vertically.
t % P % 5 % X %
¥ = m = = g mmmowm p o= o= = = k= = om o
al: 213 95: 33 100: 1 1001 247 95
-: 12  5: 0 O0: o 0l 12 5
¥. 225 : 33 . 1 I 259
e T T A Sk e
b 1: 105 89: 51 96: 1 501 157 91
-1 i3 11 2 4: 1 50| 16 g9
T: 1la : 53 : 2 | 173
o s s o i e e o e e e e e e
¥ 1: 3218 93: B4 98: 2 671 404 94
-r 25 7 2 2 1 33| 28 &
F: 343 : 86 . 3 | 432

- CRDEE TA-E'ULHTIGH L 16;5;00'11:‘]4 LR R RN N RN N N N N EE R E ]
= Cell file: wvariable B.Cel(gi)

« 27/BF56.14:00

« Token file: wvariable B (gi)

« Conditions: wvariable B.Cnd(gi)

Group #2 -- horizontally.
Group #3 -- vertically.

u % n % X %
Fom momem e s e i
*» 1: 152 95: 10 45| 182 89
-1 8 5: 12 551 20 11
X: 1&0 : 22 | 182

L T T S

24/11/0+17:36 7



variable B.Res(gi)

y 1: 210 97: 32 97| 242 97

- 7 3 1 3] 8 3
Y: 217 . 33 | 250

oo o e e o e

¥ 1: 362 96: 42 761 404 94

- 15 4: 13 24| 28 6
Y: 377 : 55 1 432

Cell file:

Token file:
Conditions:

& & & & &

CROSS TABULATION « 1A/5/0014:04 sesassssnasssssnssssnssssnsssnnsss

variable B.Cel(gi}

13/5/00-14:00

variable B {gi)
wariable E.Cnd({gi)

Group #2 -- horizontally.

Group #4 -- vertically.
u % n g )3 £
4 = = = om o = ow wm ow e = o o=
a l: 228 9O8: 19 73| 247 95
- 5 23 T 271 12 5
¥: 233 26 1 259
d = = = = h = = = = p = = = =
b1l: 134 93: 23 79| 157 91
-3 10 7: 65 211 16 9
T: 144 : 29 | 173
dm i —————— fmmmmm———— g e e
T 1: 362 96: 42 76l 404 94
- 15 4: 13 241 28 6
F: 377 : 55 | 432

27T/8/56+14

CROSS TABULATION
Cell file:

: 00

variable B.Cel (gi}

- lEIEfﬂD‘l‘:EU‘; R R R RS RS E S EEEEEEEEEEEE s

Token file:
Conditions:

L] L] - - L

variable B (gi)
variable B.Cnd{gi)

Group #3 -- horizontally.
Group #4 -- vertically.

x % ¥ % pX %
Ry e e it e N O, s e
al: 115 93: 132 98] 247 95
-2 9 7 3 21 12 5
T: 124 : 135 I 259
i gl gl
L 1: 47 81l: 110 961 157 91
-: 11 19: 5 41 1.6 9
X! 58 : 115 I 173
- = e
T 1: 162 8%: 242 97| 404 94
-: 20 11: 8 31 28 &
L: 182 ;250 1 432

24/11/0«17:36



Cross Tabulation

[
ﬁ “variable B.Cnd(gi).Cel”

« 24/11/017:39
« Token file: wvariable B (gi)
« Conditions: wvariable B.Cndigi)

Group #2 -- horizontally.
Group #3 -- vertically.
u % n & ) N
x 1 152 95 10 45 162 89
g ) 12 55 20 11
X 160 22 182
¥ 1 210 97 32 97 242 97
- 7 3 1 3 2] 3
2, 217 33 250
=1 362 96 42 76 404 94
- 15 4 13 24 28 b
X 377 55 432

24/11/0+17:40



Cross Tabulation

e’
% “variable A.Cel (prob)”

e 22/5470013:17
*» Token file: wvariahle A
« Conditionsg: wvariable A.Cnd

Group #1 -- horizontally.
Group #2 -- vertically.
a % b % z %

u l 581 9% 229 95 gl0 98
i 3 1 11 2 14 2

L 584 240 824
nl 32 91 44 77 76 83
ke 3 9 13 23 16 17
z 35 57 ¥

¥ 1| 613 99 273 92| 8ss 97
- 5 1 24 8 30 3
¥ 619 297 916

24/11/0-18:03



Cross Tabulation

—
;“’]}l| “yariable B.Cnd(gi).Cel”
o 24711/0-17:39
« Token file: variable B (gi)
+ Conditions: wariable B.Cndigi)
Group #1 -- horizontally.
Group #2 -- wvertically.
t % P % s % L %
ul 2856 96 Ts 99 1 50 362 96
= 13 4 1 1 1 50 15 4
= 299 76 2 377
n l 32 73 9 90 1 1900 42 76
- 12 27 1 10 o 0 13 24
¥ 44 10 1 55
r1 318 93 Bd 98 2 67 404 94
- 25 7 2 2 1 33 2B L
3 343 86 3 432

24/11/017:39



Cross Tabulation

[
“variable B.Cnd(gi).Cel"

s 24/11/0-17:359
# Token file: wvariable B {gi}
« Conditiong: wvariable B.Cnd(gi)

Group #1 -- horizontally.
Group #3 -- wvertically.
t % D % s % L %
x 1 129 BB 33 94 0 == 162 89
- 18 12 2 & g0 =-- 20 11
z 147 35 0 182
v 1 18% 5S6 51 100 2 67 242 97
= 7 d 0 0 1 =33 8 3
z 196 51 3 250
21 jleg 93 84 918 2, &7 404 94
- 25 7 2 2 1 33 28 &
% 343 a6 3 432

24/11/0«17:40



variable C.Res

« CELL CREATION « 25/5/0013:13 #ss
Name of token file: wariable C
Name of condition file: +ariable C
(
(1)
{2)
(3)
(4)
)
Number of cells: 7
Application value(s): 1
Total no. of factors: &

MNon-
Group Apps apps Total %
1 (2}
a B 40 & 46 48
% 87 13
b N 33 18 49, 52
% 57 33
Total M T3 a2 495
% 77 23
a2 (3)
= ] 71 18 8BS 494
g a0 20
Y H 2 4 6 &
% 33 &7
Total N 73 22 95
% 77 23
3 (4}
rn N ] 14 19 20
% 26 T4
11 | 68 & T8 B
% 89 11
Tatal N 73 22 95
% 77 23
TOTAL N T3 22 95
% 77 23

Name of new cell file: wariable O

CROSZ2 TABULATION = 25/5/00+13:13
Cell file: wvariable C.Cel
27/8/56+13:13

Token file: wvariable C

B @ & @

""I'll‘-l'll-ll--l-.ll.-l-l'..-‘."....j‘*

Lond

Cal

LR R R R N N NN NN RN

24/11/0+17:43



variable C.Res

» Conditions: variahle C.cnd

Group #1 -- horizontally.
Group #2 -- wvertically.

a % b % ¥ %
LA T R T S R
x 1: 40 93: 31 8671 71 B8O
- i 7 15 331 18 20
x: 43 46 | 89
L I I
v Ll: 0 0: 2 8671 2 33
- 3 100: 1 33| 4 &7
E: 3 . 3 | 5
bl I R e ey el
Z1: 40 87: 33 BT] TI 77
-1 B 13- 16 33| 22 23
X: 46 49 | 95

s cRQES TABULHTIDH . Eﬁfﬁfﬂﬂil3:13 e R I

+ Cell file: wvariable C.Cel
¢+ 25/5/0013:13
« Token file: variahle ¢

« Conditions: variable ¢.Cnd

Group #1 -- horizontally.
Group #3 -- vertically.
a % b % L %
S i S
n 1l: 3 &0: 2 141 5 Z6
-t 2 40: 12 B8&| 14 74
¥ 5 T 14 | 19
+————-h-—-=l-——-"
u l: 37 90: 31 89| 68 B89
- 4 10: 4 11] 8 11
X il 35 I T6
B e e ———————
L 1: 40 87: 33 671 73 17
=k 6 13: 16 33| 22 23
Z: 46 49 I 95

CROSS TABULATION + 25/5/00+13:13
Cell fila: wvariable C.cCel
27/8/5613:13

Token file: wvariable ¢

« Conditions: variable C.0nd

L]

Group #2 -- horizontally.
Group #3 -- vertically.
® 7 v % h IR

G L L L L R I O R I T R e

24/11/0-17:43



variable C.Res

ST A e T SO e e s sy, e
n l: 5 28: o ol 5 26
-: 13 72: 11001 14 74
I: 11 1 I 19
+ = = = = ki = m om o= o om o= = =
u 1 66 93: 2 401 68 &g
- 5 7 3 60| 8 11
¥ 71 : 5 I 78
o fEmm———————— s
7 1 71  B80: 2 331 713 17
18 20: 4 67| 22 23

24/11/0=17:43



variable D (% ).Res

L CEL-L CREHTIDH L 25;5;‘:0#13:23 LA AR AR R R EEREE R R RN REEEEERERENRNERNEH..]
Name of token file: wariable D (%)
MName of condition file: wariable D (%).Cnd

{

(1)
(2)
(3)
(4)
(5)
(&)
1

Number of cells: 27
Application value(s): 1
Total no. of factors: 10

MNon=
Group Rpps apps Total %
1 (2)
a M 101 200 301 85
% 14 B6
b M 36 124 led 35
% 23 78
Total N 137 324 46l
& 30 70
2 (3]
u | 121 286 407 &8
% 30 70
mn 1) 16 358 54 12
' 30 70
Total M 137 124 461
% k1] 70
3 (4d)
1 ] 14 21 i5 B
% 40 &0
= M 123 303 426 92
Y 29 71
Total N 137 324 461
& o 70
4 (5)
= M 113 260 373 81
% 30 70
T ] 24 fd a8 19
% 27 73

24/11/0+17:53 1



variable D (%).Res

Total N 137 324 d6l
% 30 70
5 (B)
i N 95 203 298 85
% E ae
= ) 42 121 163 35
' 25 74
Total M 137 324 461
% 30 70
TOTAL B 137 324 451
E 30 70

Name of new cell file: wariable D (%).Cel

+ CROSS TABULATION « 25/5/00+13:24 ssscrsnvrnsnnssssssssnnssnssnnnsas
« Cell file: wvariable D (%).Cel

« 27/B/56+13:23

» Token file: variable D (%)

» Conditions: variable D (%).Cnd

Group #1 =-- horizontally.
Group #2 -- vertically.

a % b % b3 %

B = = = om g o= o= = - ko= om o= o=

u 1l: 94 34: 27 21| 121 30
=: 183 &6: 103 79| 286 70

¥: 277 ;130 I 407
* - - = = = e = - m ==
n l: T 29: 9 30| 16 30
-1 1T T71: 21 70| ig TO
r: 24 : 30 I 54
=== ——— e . e e et e el nfls it e it

¥ 1: 101 34: 36 231 137 30
-: 200 66: 124 78] 324 70
>: 101 : 160 | 461

« CROSS TABULATIOM ESJEIDE-lj:zd L R
+ Cell file: wariable D (%).Cel

« 27/8/56+13:23

» Token £ile: variable D (%)

» Conditions: variable D (%).Cnd

Group #1 -- horizontally.
Group #3 -- wvertically.
a % b % £ %
+ == == g m == s = mem-
1 1: g 42: & 381l 14 40
- 11 53: 10 63| 2l B0
X: 19 : 16 [ 35

24/11/0-17:53 2



variable D (% ).Res

4 = m o= o= pT === === -

pl 93 33: 30 21| 123 29

-: 1B9 &7: 114 79| 303 71
Z: 282 : 144 | 426

L 1l: 101 34: 36 23 137 30
200 65: 124 78| 324 T0
= 301 | 461

b= 1
aa
[ ]
L3}
=

CROSS TABULATION « 25/5/00:13:24 sssssssssssssssesssnesssnnsasnssss
Cell file: wvariable D (%).Cel

27/8/7/56+13:23

Token file: variable D (%)

Condicions: variable D (%).Cnd

- - - L L]

Group #l1 -- horizoentally.
Group #4 -- wvertically.
a % b & L %
$# = = = = = o= == 4 == = =

1: Bl 33: 32 251 113 30
-: 162 6&7: 98 75| 260 7O

%]

¥: 243 130 | 373
o B e e S
r1 20 34: 4 13| 24 27
- 38  B6: 26 87| 64 73
¥ 58 : 30 | 88
T - ———— L e e e

¥ 1: 101 34: 36 231 137 30
-: 200 66: 124 TE|] 324 70
¥: 301 . 160 | 461

CROSS TABULATTON » 25/5/00013:24 sesescsscssssnsansssassscsssnassss
Cell file: wariable D (%).Cel

27/8/56+13:23

Token file: wvariable D (%)

Conditions: wvariable D (%).Cnd

Group #1 -- horizontally.
Group #5 -- wertically.
a & b % z %
$ = = = . = f = = m m f = = ==

il: 67 35: 28 261 95 32
-3 122 &5: 81 741 203 &8

¥: 189 : 109 | 298
4 = = = = f = = = = g = = =™ =
e 1 34 20: g8 161 42 26
- 78 T7Q: 43 841 121 74
X: 11z - al | 163
fmmmm—————— —mmmmssa= o e

2 1: 101 34: 36 231 137 30
-3 200 66: 124 78] 324 TO
£: 301 :  1e0 I 461

24/11/017:53 3



variable D (%).Res

CROSS TABULATION + 25/5/00213:24 ssssssssssssssrnsnsssnssssanssssns
Cell file: wariable D (%).Cel

2T/ B/ /5R«13:23

Token file: wvariable D (%)

Conditions: variable D (%) .Cnd

Group #2 =-- horizontally.

Group #3 -- vertically.
u % n % L %
P === =g === = ===
11: 13 41: 1 331 14 40
-: 19 59: 2 671 21 60
L 32 : 3 | 35
+ = = = = § - = = = 4 = o= o= =

pl: 108 29: 15 29] 123 29
-: 267 T71: 36 711 303 71
¥: 375 : 51 | 426

¥ 1: 121 30: 16 301 137 30
-: 286 T0: 38 701 324 70
¥: 407 : 54 | 461

CROSE TABULATION « 25/5/00+13:24 ssvsssssssssssssssssnssnsnsnssnsns
Cell file: wariable D (%).Cel

2T/8/5613:23

Token file: wvariable D (%)

Conditiens: wvariable D (%).Cnd

L T T I 1

Group #2 -- horizontally.
Group #4 -- vertically.

u % n % r %

¥ = = = - § = = = = o= = = =
g 1: 98 30: 15 35| 113 30
-: 232 70: 28 65| 260 70

L: 330 2 43 | 373
+ = = = = = = = = 4 m == ea-
r 1: 23 30: 1 91 24 27
=i 54 70: 10 911 64 73
5 77 . 11 | a8
g pmm———————— fmm

= 1: 121 30: 16 301 137 30
-: 286 70: 38 701 324 70
¥: 407 : 54 | 461

L] CRGSE TABULATIGH - EE‘I“‘E‘-’I{H}"‘13:25 R R R R E SR R RE R E SR EE
« Cell file: wariable D (%).Cel

s 27/8/56+13:23

+ Token file: variable D (%)

« Conditions: variable D (%).Cnd

Group #2 -- horizontally.
Group #5 -- wvertically.

24/11/0+17:53 4



variable D (%).Res

u % n % T 0%
e T T T T R
il 86 33 9 25| - 95 32
-: 176 6&7: 27 751 203 &8
¥: 262 . 36 | 298
T P g O T
e 1l: 35 24: 7T 3% 42 26
-3 110 76: 11 61| 121 74
T: 145 : 18 | 163
hmmm————— f-=—=—==mm== A —————————

¥ 1: 121 30: 16 301 137 30
-: 286 70: 38 70| 324 70
¥: 407 : 54 | 461

CROSES TABULATION « Z5/5/00#13:25 sssssssssnsssssssssssnsssnnnsnsnnns
Cell file: wvariable D (%).Cel

2T/B/86813:23

Token £ile: wariable D (%)

Conditicons: wvariable D (%).Cnd

E F ® ® &

Group #3 =-- horizontally.
Group #4 -- vertically.
1 3 p % T %
R I T
g 1 12 41: 101 2% 113 30
=3 17 59: 243 71| 260 70
! 29 344 I 373
g = = = = 4 m om om om g o= o= = =
g B 2 33: 22 271 24 27
-1 4 &7: 60 731 64 73
X: [ : 82 | 88

.I,—————————+———'--|.'r|- -y ——

T 1: 14 40: 123 29| 137 30
-+ 21 60: 303 71| 324 70
Z: 35 . 426 | 461

':RC'ES TAEI]L&TIDH LJ 25;5#ﬂﬂ'13:25 AF B EEREERE R EE R R R R P RS R R R R
Cell file: wariable D (%).Cel

* 27/8/56=13:23

« Token file: variable D (%)

« Conditions: wvariable D (%).Cnd

Group #3 -- horizontally.
Group #5 -- vertically.
1 % P % N
4 = = = = o = = = - & - - - -
il: 12 44: 231 311 95 32
-1 15 56&: 188 6921 203 68
X 27 : 271 | 298
4 - - = = = om o= =g o= - = -
e 1: 4 25: 40 26| 42 26
- 6 75: 115 74| 121 74
X: 8 t 155 | 163

24/11/0+17:53 5



variable D (%).Res

Fm———————— o ————— o ————————

T 1: 14 40: 123 291 137 30

-: 21 60: 303 711 324 70
¥: 35 . 426 | 461

« CROSS TARULATION = 25.."'5}"':“:“13:25 LA R LR R R R R LR RN R EE RN N EEREE N NN NI
» Cell file: wariable D (%).Cel

» 2T/8/56+13:23

» Token file: variable D (%)

» Conditions: variable D (%) .Cnd

Group #4 =- horizontally.
Group ¥5 -- wvertically.
= % r % X2 %
+ = = = = g m omoEmm o= ===
i1l: 77 31: 18 38| 895 32
-: 173 &9: 20 B3] 203 68
x: 250 = 48 | 298
$ = om om om g om o= o= o= o= = = o=
e 1 36 29: & 15| 42 26
o 87 7T1: 3id 851 121 74
E: 123 40 I 163

¥ 1: 113 30: 24 271 137 30
-: 260 70: 64 73| 324 70
¥: 373 : BE | 461

« BIMNOMIAL VARBRUL, 1 sSCep » 25;5![]&#14:22 BEE R R R R SRR e
Hame of cell file: wvariable D (%).Cel

Using fast, less accurate method.
Averaging by weighting factors.
Cne-level binomial analysis..

Run # 1, 27 cells:
Iterations: 1 2 3 4 §
Convergence at Iteration 5
Input 0.292

Group Factor Weight App/Total Input&Weight

niy a 0.553 0.34 0.34
b 0.402 0.22 0.22
21 u 0.496 0.30 0.29
n 0.532 0.30 0.32
3 1 0.622 0.40 0.40
P 0.490 0.29 0.28
4: s 0.506 0.30 0.30
r 0.476 0.27 0.27

24/11/0-17:53 6



variable D (%).Res

51 i 0.526 0.32 0.31
(] 0.452 0.26 0.25

Cell Total App'ns Expected Error
bupsi 1 13 15.118 0.385
bupse 28 ) 5.059 0.001
bupri 12 3 2.506 0.123
bupre 10 0 1.638 1.959
bulsi 10 5 3.377 1.177
bulse 2 1 0.549 0.510
bulri | D 0.312 0.453
bulre 1 0 0.252 0.336
brnpsi 16 5 4.087 1.202
bEnpse [ 2 1.218 0.630
bnpri 3 1 0.701 0.167
bnpre 3 0 0.554 0.679
bnlsi 1 0 0.371 0.589
bnlse 1 0 0.304 0.437
aupsi 132 46 46.692 0.016
aupse 78 23 22.533 0.014
aupri 27 13 . 8.834 2.920
aupre 22 ] 5.834 0.162
aulsi 12 5 5.812 0.220
aulse 2 (1] 0.822 1.394
aulri 2 1 0.910 0.016
aulre 2 1 0.765 0.117
anpsi 12 1 4.647 4.672
anpse & 5 1.916 7.294
anpri 3 0 1.079 1.685
anpre 2 (1] 0.588 0.834
anlsi 1 1 0.520 0.922

Total Chi-square = 28.9149
Chi-square/cell = 1.0709
Log likelihood = =274.981
Maximum possible likelihood = -257.463
Fit: X-square(22) = 35.037, accepted, p = 0.0793

Execution time: 0 min, 9.1 sec

- BII'H]HIAL VHRBRUL i 25;5!“0‘14:23 FEFF AT AR RSN R R R R
Hame of cell file: wvariable D (%).Cel

Using fast, less accurate method.
Averaging by weighting factors.
Threshold, step-up/down: 0.050001

Stepping Up..
—————————— Level # 0 --===e----

Fun # 1, 1 cells:
Iterations: 1 2
Convergence at Iceration 2
Input 0,297

Log likelihood = -280,489

24/11/0+17:53 7



variable D (%).Res

Fun # 2, 2 calls:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.294

Group # 1 -- a: 0.548, b: 0.411

Log likelihoed = -277.350 Significance = 0.013

Run # 2, 2 cells:

Iterations: 1 2

Convergence at Iteration 2

Input 0.297

Group # 2 =-- u: 0.500, n: 0.499

**% Warning, negative change in likelihood (-0.00323486) replaced by

Log likelihood = -280.491 Significance = 1.000
Run # 4, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteratien 4

Inpuc 0.297

Group # 3 =-- 1: 0.612, p: 0.491

Log likelihood = -279.595 Significance = 0.186
Fun # 5, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.297

Group # 4 -- g; 0.507, r: 0.470

Log likelihood = -280.329 Significance = 0.587
Run # 6, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.296

Group # 5 -- i: 0.526, e: 0.452

Log likelihood = -279.542 Significance = 0.176

Add Group # 1 with factors ab
—————————— Level # 2 ---====-a-

Run & 7, 4 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.294

Group # 1 -- a: 0.549, b: 0.409

Group # 2 -- u: 0.496, n: 0.528

Log likelihood = -277.278 sSignificance = 0.704
Maximum possible likelihood = =276.675

Fit: X-square(2) = 1.205, accepted, p = 0.5537

Bun # B, 4 cells:
Iterations: 1 2 3 4

24/11/017:53 8



variable D (% ).Res

Convergence at Iteration 4

Input 0.293

Group # 1 -- a: 0.550, b: 0.407

Group # 3 -- 1l: 0.629, p: 0.489

Log likelihcod = -276.175% Significance = 0.133
Maximum possible likelihood = -276.003

Fit: X-square(2) = 0.343, accepted, p = 0.B439

Run # 9, 4 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.294

Group # 1 -- a: 0.548, b: 0.411

Group ® 4 -- 5: 0.507, r: 0.469%9

Log likelihood = -277.179 Significance = 0.573
Maximum possible likelihood = -276.355

Fit: X-square(2) = 1.628, accepted, p = 0.4527

Run # 10, 4 cells:

Iterations: 1 2 3 4

convergence at Iteratbion 4

Input 0.293

Group # 1 -- a: 0.549, b: 0.408

Group # 5 -- i: 0.529, e: 0.447

Log likelihood = -276.188 Significance = 0.136
Maximum possible likelihood = -275.898

Fit: X-square(2) = 0.580, accepted, p = 0.7500

No remaining groups significant

Groups selected while stepping up: 1
Best stepping up run: &2

————— e e e RS SS ES ES

Stepping DowrL.
—————————— Level # 5 -------=--
Run # 11, 27 cells:

Iterations: 1 2 3 4 5§
Convergence at Iteration 5

Input 0.292
Group # 1 -- a: 0.5953, b: 0.402
Group # 2 -- u: 0.496, n: 0.532
Group # 3 -- 1l: 0.622, p: 0.490
Group # 4 -=- g: 0,506, r: 0.476
Group ¥ 5 -- i: 0.526, e: 0.452
Log likelih = -274.981

Maximum possible likelihood = -257.463
Fit: X-square(22) = 35.037, accepted, p = 0.0793%

Fun # 12, 14 cells:
Iteracions: 1 2 3 4
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Convergence at Iteration 4
Input 0.296

Group # 2 -=- u: 0.500, n: 0.500
Group # 3 -- 1: 0.604, p: 0.491
Group # 4 -- g: 0.505, r: 0.477
Group # 5 -- 1: 0.524, e: 0.457
Log likelihood = -278.674 Significance = 0.008
Maximum possible likelihood = -271.29%2

Fit: X-square(lQ) = 14.765, accepted, p = 0.7374

Fun # 131, 16 cells:

Iterations: 1 2 3 4 §

Convergence at Iteration §

Input 0,292

Group # 1 -- a: 0.551, b: 0.404

Group # 3 =-=- 1: 0.621, p: 0.490

Group # 4 -- z: 0.506, r: 0.476

Group # 5 -- i: 0.526, e: 0.452

Log likelihood = -275.079 Significance = 0.670
Maximum possible likelihood = -268.834

Fit: X-sqguare(l2) = 12.489, accepted, p = 0.8235

Run # 14, 16 cells:

Iterations: 1 2 3 4 5
Convergence at Iceration 5
Input 0.293

Group # 1 -- a: 0.551, b: 0.406
Group ¥ 2 -- u: 0.496, n: 0.527
Group # 4 -- 5: 0.506, r: 0.476

Group & 5 -- i: 0.528, e: 0.448

Log likelihood = -276.022 Significance = 0.159
Maximum possible likelihood = -264.227

Fit: H-sguare(12) = 23.5%90, accepted, p = 0.3491

Run # 15, 15 cells:
Iterations: 1 2 3 4 5
Convergence at Iteration 5

Input 0,292

Group # 1 -- a: 0.553, b: 0.402
Group # 2 =-=- u: 0.496, n: 0.531
Group # 3 -- 1: 0.622, p: 0.490
Group # 5 -- i: 0.527, e: 0.450

Log likelihood = -275.077 Significance = 0.672
Maximum possible likelihood = -266.072
Fit: X-square{ll) = 18.011, accepted, p = 0.5895

Run § 16, 14 cells:

Iteracicons: 1 2 3 4 5§

Convergence at Iteration 5

Input 0,293

Group # 1 -- a: 0.551, b: 0.404

Group % 2 -- u; 0.496, n: 0.533

Group # 3 -=- 1: 0.630, p: 0.489

Group # 4 -- 5: 0.507, r: 0.470

Log likeliheod = -275.907 Significance = 0.180

24/11/017:53
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Maximum possible likelihood = -268.649
Fit: X-square(l0) = 14.516, accepted, p = 0.7475

Cut Group # 4 with factors sr
mme===-==== Loeval # 3 ---aao--__

Fun # 17, B cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.296

Group # 2 -- u: 0.500, n: 0.500

Group # 3 -- 1: 0.605, p: 0.491

Group # 5 -- i: 0.524, e: 0.455

Log likelihood = -278.759% Significance = 0.008
Maximum possible likelihood = -276.629

Fit: X-square(5) = 4,262, accepted, p = 0.5132

Run & 18, B cells:

Iterationz: 1 2 3 4 &5

Convergence at Iteration 5

Input 0.29%92

Group # 1 -- a: 0.551, b: 0.404

Group # 3 -=- 1: 0.621, p: 0.490

Group # 5 -- i: 0.527, e: 0.450

Log likelihood = -275.171 Significance = 0.675
Maximum possible likelihood = -274.485

Fit: X-square(5) = 1.371, accepted, p = 0.9257

Run # 19, B cells:

Iterations: 1 2 3 4 5
Convergence ak Iteration 5
Input 0,293

Group # 1 -- a: 0.551, b: 0.406
Group % 2 -- u: 0.496, n: 0.527
Group # 5 -- i: 0.529, e: 0.447

Log likelihood = -276.119 Significance = 0.159
Maximum possible likelihood = -271.037

Fit: X-square(5) = 10.163, accepted, p = 0.0747
Run # 20, B cells:

Iterations: 1 2 3 4 5

Convergence at Iteration S

Input 0,293

Group # 1 -- a: 0.551, b: 0.404

Group # 2 -- u: 0.496, n: 0.532

Group # 3 =-- 1: 0.630, p: 0.489

Log likelihood = -276.071 Significance = 0.167

Maximum possible likelihood = -272.551
Fit: X-square(S5) = 7.040, accepted, p = 0.2203

Cut Group # 2 with factors un

—————————— Level # 2 ~--==m===-=
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Run # 21, 4 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.296

Group # 3 -- 1: 0.605, p: 0.491

Group & 5 -- i: 0.524, e: 0.455

Log likelihood = -278.759 Significance = 0.009
Maximum possible likelihood = -278.515

Fit: X-square(2) = 0.490, accepted, p = 0.7836

Run # 22, 4 cells:

Iterations; 1 2 3 4

Convergence at Iteration 4

Input 0,293

Group # 1 =- a: 0.549, b: 0.408

Group # 5 -- i: 0.529, e: 0.447

Log likelihood = -276.188 Significance = 0.163
Maximum possible likelihood = -275.898

Fit: X-square(2) = 0.580, accepted, p = 0.7500

Run & 23, 4 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.293

Group # 1 -- a: 0.550, b: 0.407

Group # 3 -- 1: 0.629, p: 0.489

Log likelihood = -276.175 Significance = 0.166
Maximum possible likelihood = -276.003

Fit: X-square(2) = 0.343, accepted, p = 0.8439

Cut Group # 5 with factors ie
—————————— Level # 1 ---===ce--

Run # 24, 2 cells:

Icerations: 1 2 3 4
Convergence at Iteration 4
Input 0.297

Group # 3 -- 1: 0.612, p: 0.491

Log likelihood = -279.595 sSignificance = 0.010
Run & 25, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.294

Group § 1 -- a: 0.548, b: 0.411

Log likelihood = -277.350 Significance = 0.133

Cut Group # 3 with factors lp

Fun # 26, 1 cells:
ITteracions: 1 S
Convergence at Iteration 2
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Input 0.297
Log likelihood = -280.48%9 Significance = 0.013

All remaining groups significant

Groups eliminated while stepping down: 4 2 5§ 3
Best stepping up run: §#2

Best stepping down run: #25

Execution time: 0 min, 55.8 zec
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.
2| wyariable D.Cel”

= F3T/B/S6+12:49
+ Token file:
« Conditions:

variable D

variable D.Cnd

Group #l -- horizontally,
Group #2 =-- vertically.
a & b % L %
m 1l 77 31 21 18 98 27
- 168 &9 96 B2 264 73
= 245 117 362
g 1l 7 29 9 30 le 30
- 17 71 21 70 38 70
h 24 30 54
j 1 17 53 & 46 23 51
- 15 47 7 54 22 49
z 32 13 45
> 1f 101 34 36 23] 137 30
- 200 &6 124 78 324 70
s ol 1&0 4561




variable D.Res

« CFLL CREATION « 27/5/00+12:4059 sessssssssnsssssssssasnssnsassadsssss
Name of token file: wariable D
Name of condition £ile: variable D.Cnd

{
(1)
(2}
(3}
)
Mumber of cells: &
Application value(s): 1
Total no. of factors: 5

Norn-
Group Apps apps Total %
1 {2)
a M 101 200 301 &5
1 34 66
s} M 36 124 160 35
% 23 78
Total N 137 324 461
% 30 T0
2 (3)
m M 98 264 ig2 79
% a7 73
g M 16 3B 54 12
7 30 70
3 M a3 22 45 10
E 51 49
Total M 137 324 461
% 30 T0
TOTAL M 137 324 451
% 30 70

Mame of new cell file: wvariabhle D.Cel

« CROSS TABULATION « 27/5/0012:50 ssssssssssssnnssssnsssnssssnasnnsss
« Cell file: wvariable D.Cel

« 27/5/00-12:49

+ Token file:; wariable D

s Conditions: wvariable D.Cnd

Group #1 -- horizontally.
croup #2 -- vertically.
a % b ® 1 %
i e e T

m l: 7 31: 21 18] 98 27

24/11/0-17:55 1



ﬁ “variable D.Cel”

v 27/B/5612:49
» Token file: variable D
» Conditions: wvariable D.Cnd

S e e B 0 PO

0 Applications/Total




variable D.Res

« CFELL CREATION « 27/5/00+12:4059 sessssssssnsssssssssasnssassasssdsssss
Name of token file: wariable D
Name of condition £ile: variable D.Cnd

{
(1)
(2}
(3)
)
Mumber of cells: &
Application value(s): 1
Total no. of factors: 5

Mon-
Group Apps apps Total %
1 {2)
a M 101 200 301 &5
% 34 (13
s} M 36 124 160 35
% 23 T8
Total N 137 324 461
% 30 T0
2 (3)
m M 98 264 ig2 79
% a7 73
g M 16 3B 54 12
7 30 70
3 M a3 22 45 10
E 51 49
Total M 137 324 d61
% 30 T0
TOTAL M 137 324 451
% 30 70

Mame of new cell file: wvariable D.Cel

« CROSS TABULATION « 27/5/0012:50 ssssssssssssnssssnsssnsssenassnsss
« Cell file: wvariable D.Cel

« 27/5/0012:49

« Token file:; wariable D

+ Conditions: wariable D.Cnd

Group #1 -- horizontally.
croup #2 -- vertically.
a &% b ® X %
e i

m l: 7 31: 21 18] 98 27

24/11/0-17:55 1



variable D.Res

-: 168 69; 96 82| 264 73

F: 245 . 117 1 362
# = = = = == == === -
g 1 7 29: 9 301 16 30
-r 17 T71: 21 701 38 70
I: 24 ;30 | 54
s T B vty R bt it R
4 1: 17 53 6 46| 231 51
-: 15 47: 7 54| 22 49
¥ 3z . 13 | 45
e e ——— e = = =

¥ 1: 101 34: 36 231 137 30
-: 200 66: 124 781 324 70
¥: 301 + 160 | 461

s BIMOMIAL ‘L"ARBRU'L, l SEEI} L] 2?;5;0D¢1215D FEA SRR EEEE R EREE R R R R R R R R
Name of cell file: wariable D.Cel

Using fast, less accurate method.
Averaging by weighting factors.
One-level bhinomial analysis.

Run # 1, & cells:
Iterations: 1 2 3 4 5
Convergence at Iteration &
Input 0.291

Group Factor Weight App/Total Input&Weight

l: a 0.549 0.34 0.33

b 0.409 0.22 0.22

2: m 0.467 0.27 0.26

q 0.531 0.30 0.32

| 0.711 0.51 0.50
Cell Total App'ns Expected Error
bm 117 21 23.380 0.303
bj 13 [ 5.352 0.133
by 30 9 7.318 0.511
am 245 77 T4.641 0.107
aj iz2 17 17.634 0.051
ag 24 7 8.674 0.506

Total Chi-square 1.6115

Chi-square/cell = 0.2686
Log likelihood = -272.275
Maximum possible likelihood = =271.475
Fit: X-square(3d) = 1.600, accepted, p = 0.6626

Execution time: 0 min, 5.3 sec

« BINOMIAL VARERUL » 2T/S/00%12:50 sesvnncassnnssassssssnnsssnssansanaa
Name of cell file: wvariable D.Cel

Using fast, less accurate method.

24/11/0-17:55 2



variable D.Res

Averaging by weighting factors.
Threshold, step-up/down: 0.050001

Stepping Up.
————————— - Level $ 0 -=====eaa-

Runn # 1, 1 cells:
Iterations: 1 2
Convergence at Iteration 2
Input 0.297

Log likelihood = -280.489

Run # 2, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input .294

Group # 1 -- a: 0.548, b: 0.411

Log likelihoeod = -277.350 Significance = 0.013

Run # 3, 3 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.294

Group # 2 -- m: 0.471, g: 0.503, j: 0.718

Log likelihood = -275.393 Significance = 0.008

Add Group # 2 with factors mgj
—————————— Level § 2 -----=-==~

Fun # 4, & cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.291

Group # 1 -- a: 0.549, b: 0,409

Group # 2 -- m: 0.467, g: 0.531, §: 0.711

Log likelihood = -272.275% Significance = 0.013
Maximum possible likelihood = =-271.475

Fit: X-square(3) = 1.6800, accepted, p = 0.65628

Add Group # 1 with factors ab
Best stepping up run: #§4

o N EE N E B B S G S S S e e e e o e e o e e e e e N W R W W EE

Stepping Dowrl..
——===----= Leayel # 2 ---------—-

Run # 5, & cells:
Iterations: 1 2 3 4 5
Convergence at Iteration 5
Input 0.291

24/11/0-17:55
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Group # 1 -- a: 0.549, b: 0.40%9

Group # 2 -- m: 0.467, g: 0.531, j: 0.711

Log likelihood = =272.275

Maximum possible likelihood = -271.475

Fit: X-sguare(l) = 1.600, accepted, p = 0.6626

--==-=---- Level # 1 —---------

Run # &, 3 cells:

Iterations: 1 2 3 4 5

Convergence at Iteration 5

Input 0.294

Group # 2 -- m: 0.471, g: 0.503, j: 0.71%

Log likelihood = -275.393 Significance = 0.013

Eun & 7, 2 cells:

Iterations: 1 2 3 4

Convergence at Iteration 4

Input 0.294

Group # 1 -- a: 0.548, b: 0.411

Log likelihood = -277.350 Significance = 0.008

All remaining groups significant
Groups eliminated while stepping down: Hone
Best stepping wup run: §&4

Best stepping down run: #5

Execution time: 0O min, 14.2 sec

24/11/0-17:55



Scattergram

@ “variable D.Cel™

» 27/8/5612:49
» Token file: wvariable D
« Conditions: wvariable D.Cnd

b T e e O M

0 Applications/Toktal 1
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variable E.Res

« CELL CREATION + T/B/00515:37T ssscisannsssnsassasonnanmessssssssssss
Mame of token file: wvariable E
Mame of conditcion file: wvariable E.Cnd

(
(1)
(2}
(3)
(4]
(5]
)
Number of cells: 9
Application value(s): 1
Total no. of factors: 9

Mon-
Group Apps apps Total %
1 (2)
a N 45 18 63 77
3 Tl 29
b N & 13 19 23
& 32 (3]
Total W 51 31 g2
% b2 38
2 (3)
m N 45 27 72 88
% 63 38
b | H 5 2 7 g
% Tl 29
g M 1 2 3 4
% 33 67
Total N 51 i1 82
% B2 38
3 (4}
u H 50 29 79 986
- 63 37
n N 1 2 3 4
% 33 B7
Total W 51 31 a2
- 62 ia
a1 (5)
2] N 47 27 74 90
% B4 36
P N 4 4 8 10

24/11/0+17:57 1
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% =10 11

Total N 51 31 82
% B2 38

TOTAL N 51 3l B2
% G 38

Name of new cell file: wariable E.Cel

« CROSES TABULATION = TIE.-"{IG-].E;EEI L I I I R e,
+ Cell file: wariable E.Cel

s TSR/O0D-16:28

» Token file: variable E

« Conditions: wvariable E.Cnd

Group #1 == horizentally.
Group #2 -- vertically.

a % b % X %

= = = = fF m om = = g o= = = =
ml: 39 70: 6 38| 45 63
= 17 30: 10 B3| 27 38
E: 56 . 15 | 72
k& = = = = 4 = = m am o= = = =
j 1: S B3: 0 0l 5 71
-3 1 17: 1 1001 2 29
¥: 6 : 1 | 7
B = = = = f wm m omom g oE = = =
g 1l: 1 100: Li] 0| 1 33
- 0 0: 2 100] 2 &7
¥ 1 : 2 | 3
o o, o, i o et s s e o
¥ 1: 45 T1: 65 321 51 62
-+ 18 29: 13 681 31 38
T: 63 : 19 | 82

- CRG'ES TABULLHI.TI'DN . TJEIDD#IE:EE AR ERR R E R R R R E R R R R B
« Cell file: wvariable E.Cel

= T/6/00-16:28

« Token file: wvariable E

» Conditions: wariable E.Cnd

Group #1 -- horizontally.
Group #3 -- vertically.
a & b % Z &
$ = = = = 4 = o= o= o= g = - - -
u l: 44 T1: & 35| 50 &3
- 18 29. 11 65| 29 37
2 : 62 - 17 | 79
+ === = - === == ==
n l: 1 100: 0 ol 1 33
= 0 0: 2 1001 2 &7
3 1 2 | 3

24/11/0+17:57 2



Scattergram

ﬁ “variable D.Cel”

« FTFB/S6+12:49
* Token file: wvariable D
« Conditions: wariable D.0nd

el al el o s TR e o WL

0 Applications/Total 1

24/11/017:56



variable E.Res

e = dmEm - e e e

¥ 1 45 71: 6 32 51 62

-+ 1B 29; 13 B8] 31 38
x: £3 : 19 | gz

CROSS TABULATION - TIEIDD+15:EQ L R
Cell file: wvariable E.Cel

T/6/00=15:28

Token file: wvariable E

Conditicns: variable E.cnd

Group #1 -- horizontally.

Group #4 -- wvertically.
a % B % z %
+ W = = = f m = = m g o= = wm om
s1: 41 73: & 331 47 &4
- 15 27 12 &7| 27 38
X: 56 : 18 1 74
$# = = = === - === = -
p 1l: 4 57: I 4 50
-3 3 43: 1 100 4 50
& 7 : 1 I B
e ————— frmmm————— mmms e ——

¥ 1: 45 71: 6 32| 51 §2
-: 18 29; 13 681 31 38
z: 63 : 19 I gz

=« CROSS TABULATION » T/6/00=16:259 BEE RS SRR RS RS R R
« Cell file: wvariable E.Cel

» T/6/0016:28

* Token file: wvariable E

« Conditions: wvariable E.Cnd

Group #2 -- horizontally.
Group #3 -- wvertically.
m % 3 % g % x %
L T T e R
1l 45 B3: 5 Tl 0 == 50 &3
- 27 38B: 2 29: 0 -- 29 37
¥ 72 : 7 H 0 I 79
L T T
n l: 0 ==: o -- 1 33| 1 33
- 0 === 0 =-=: 2 B7I 2 67
z: 0 0 : a [ 3
- Fm e ———— fommmmmm——— fmmm——————
= 1: 45 63 5 71: 1 33| 51 62
- 27 38 2 29: 2 BT 31 38
po T2 7 s 3 | B2
LS EHDSS ThBUIﬁTIﬂH L ?fEfDD-lE:EE FREAA A S EER R R AR R R R e
» Cell file: wvariable E.Cel
s T/ e/0016:28
= Token file: variable E

24/11/0+17:57 i



variable E.Res

« Conditions: variable E.Cnd

Group #2 -- horizontally.
Group #4 -- wvercically.

m % i 0% g % X %
L T S R T
8 1: 41 63: 2 83: 1 33| 47 &4
=3 24 37: 1 17: 2 &7 27 3&
¥: 65 H & : 3 I 74
$ = = = = = m s mm .= .= - .
p 1l: 4 57: 0 0: 0 -=| 4 50
- 3 43: 1 100: 0 == 4 50
1 7 : 1 : a I 8
Fmmmmmmmma Fomm—m e hm——mmmm=— fommmm———
£1: 45 63 5 71: 1 331 51 &2
- 27 38: 2 29: 2 BT 31 238
X 72 g T : 3 I 82

* CROSS TABULATION - T/ 6001629 e
» Cell file: wvariable E.rel

= 7/6/00.16:28

* Token file: variable E

» Conditions: variable E.Cnd

Group #3 -- horizontally.

Group ¥4 -- vertically.
u % n & r %
L I R
8 1 46 B5; 1 33} 47 64
-3 25 35: 2 67| 27 36
¥ 71 ] 3 | T4
+ = - - = k= - = - - aa =
P 1l: 4 50: 0 --] d 50
-3 4 50: 0 == 4 50
X B : o I 8
$ommmm—— o fmm———————— P ———
=1 50 &3: 1 331 51 62
= 29 37: 2 87 31 38
L 79 3 | g2

24/11/0-17:57 4



Cross Tabulation

3 “variable E.Cel™

v 2T/B/S6Es16:28
« Token file: variable E
» Conditions: variable E.Cnd

Group #1 -- horizontally.
Group #2 -- vertically.
a & b % Z %
m 1 39 70 T 45 B3
- 17 30 1 &3 27 3B
2 Sh 1l& T2
§ 1 5 B3 0 0 5 71
- 1 1 1 100 2 29
3 6 1 7
g l 1 100 ] 0 1 133
- 0 1] 2 100 2 &7
Y 1 2 3
Y1 d5 71 6 32 51 B2
- 18 29 13 &8 31 38
¥ 63 15 g2

24/11/0+17:58



Cross Tabulation

% “variable E.Cel”

« 2T/8/5R«16:28
« Token file: wvariable E
« Conditions: wvariable E.ond

Group #1 -=- horizontally.
Group #3 -- wvertically.
a % b % X %
ul 44 71 6 35 50 63
- 18 29 11 &5 29 37
Z 62 17 79
41 1 100 ] a 1 33
= 0 g 2 100 2 &7
> 1 2 3
1 45 71 6 32 51 62
- 18 29 13 &8 31 38
s 63 19 82

24/11/0-17:58



Cross Tabulation

ﬁ “variable E.Cel”
« 27/8/56«16:28
« Token file: wvariable E
+ Conditions: wariable E.Cnd
Group #1 -- horizontally.
Group #4 -- vertically.
a % b % Y %
g 1 41 73 & 33 7T B4
= 15 27 12 7 27 3B
| P L1 1& 74
pl 4 57 H 0 d 50
- 3 43 1 100 4 50
z 7 1 8
b 45 71 6 32 1 &2
- 18 2959 13 &8 31 31
z, 63 1% 82

24/11/0+17:58



Cross Tabulation

F
ﬁ “pariable E.Cel™

« 27/B/56+16:28
« Token file: wvariable E
« Conditions: variable E.Cnd

Group #2 -- horizontally.
Group #3 -- wvertically.
m % i % g % r %
ml d5 &3 5 T1 g =-- o 63
- 27 318 2 29 J == 29 37
X T2 ¥ i) 74
nl 0 == 0 == 1 33 1 33
- 0 -- o -- 2 &7 2 &Y
> 0 0 3 3
Y 1 45 &3 5 T1 1 33 51 &2
- 27 3B 2 29 2 87 31 38
T2 T 3 B2

24/11/0-17:58



Cross Tabulation

;L
" “yariable E.Cel”
» 27/8/56+15:28
« Token file: wvariable E
« Conditions: wvariable BE.Cnd
Group #2 -- horizontally.
Group #4 =-=- vertically.
m % ;| % g % z %
s 1 41 &3 5 B3 1 33 47 64
= 24 317 1 17 2 B7 27 36
b 5 65 6 3 74
p 1 4 57 o 0 ) == 4 50
- 3 43 1 100 o -- 4 S0
2, 7 1 0 8
¥ 1 45 63 5 71 1 33 51 62
- 27 38 2 29 2 B7 31 138
z, 72 7 3 g2

24/11/0-17:59



Cross Tabulation

—

E‘f‘f} “variable E.Cel”

» 2T/B/SR«1R:2R
+ Token file: wvariable E
+ Conditiens: wvariakble E.Cnd

Group #3 -- horizontally.
Group #4 -- vertically,
1 2 n % Z %
g 1 46 &5 1 33 47 &4
- 25 35 2 67 27 36
z 71 3 74
p1l 4 50 0 -- 4 50
- d 50 0 == 4 50
2 g 0 8
p O | 50 B3 1 33 51 62
5 29 37 2 &7 31 138
b3 79 3 82

24/11/0+17:59



Scattergram

3
gﬁ “variable C.Cel"

e 24/11/0.18:10
« Token file: wvariable C
= Conditions: wvariable C.Cnd

W T e T PO MM

0 Applications/Total 1

24/11/0-18:11
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